In class, | have explained that when we report a conclusion for a hypothesis test, we should report the conclusion in the past
tense because that’s what we observed in our study or experiment. I’ve also said that you should report the result as
specifically as possible. In other words, you should NOT just write “There was a significant effect of ...” if the result of the
study was more specific—e.g. you should write/report “There was a significant increase....or there was a significant decrease’
rather than simply stating “there was an effect.” In some of the homework solutions that I’ve posted to the course website, |
did not report the conclusion (Step 5) in this way. So here | have corrected these conclusions so they agree with how I'm
teaching you in class to state them.

3

Homework # 8 Solutions:

Vecdeu ¥ ;
Skp 5.’ C&M&As.lofl-
“The cansie fpiwiwmlﬁz J1 chacened Cverse Sﬁﬂs) 2= 3-\L)3§Ab§.
Qeoleun @
S‘\e[) '6'; Comt,QMs\ew. Fva‘YaQ Aoble J\a«w\aa: mCKva-Q\coxdl% WMQQ&(L
Vo oomnyg Fre masded & CWQ&J Tode | - ME§, pL.oS

o Contucion. The i e
54-6? C: Londus=n. s Jovia oo,
o,ve/wzqq \/Wsw\p\“?'\ SQ %‘829% Q\SS( ?<-C>§.

"Dxro\g,o.e/wv\gf
Steg £ Condlucon. The “ted wog bl do dited

&L‘Mmé Rmd;ozdu,LQAl Z= 23T, 34.0\.

Homework # 9:
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